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Instructions to Candidates: _ |
1.  Answers should be written either in English or in Kannada.

2. Answers of Part A should be continuous.
3.  Answers should be precise.

PART - A
PN - D

Answer any Ten of the following. Each question carries 1 mark. (10x1=10)
T oimaﬁ)mddra 10 ZZnon. wv3dr. T3odeowss, 1 ©os.
1. a) What is growth? :
BERBR 20TTEN?

b) Expand PQLL
' PQLI &)ﬁ_pf%.

c) Define human development index.

:msmzpwep HRWBONI), DOSRA.
Q . . )

d) What is inequality?
OR[PIZ D0TTCN?

'e) Define poverty line.

' WHEII 6@93050534 SRR

f)  State the meaning of Longevity.
DesFoF O30T OPFIN, 3PA.

g) Give the meaning of free trade..
R[0T mzsamdd OPFDID, V.

- h)  What is dual sector?
. %ﬁoo:b DOTTEN?

1) State the meaning of traditional Scociety.
TOOTTOONT  ATPBRT  VPFRW), 39

1) What are the sources of capital?
WOBTET  DPONPOPH)? ~ - : g
[P.T.O.
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10.

11.

12.

k)  What is capital output ratio?
OB YOI, OVTVI  A0TTEN?

1)  What is labour intensive technology?
WFT-3F, I0TF  DOTTVeR?

m) Expand MDG’s.
MDG’s &, D30%.° |
PART - B
Pon - D

Answer any Six of the following. Each question carries 5 marks. (6x5=30)
3ENS ORPYECRe 6 T[JReR ww3dr. Jcieonmdr, 5 woInsh.

What are the defects of Gross National Income? Explain.

2t Uaaéeoja NI 3 d{aeaﬁ%@@? QTOA.

Write short note on human happiness index.

WooTW  ROBRER  BPOD W T3 20T0WO.

Briefly explain the causes of poverty.

WRI[Y,  FoTNYR), ROZTeON  DTOA.

Briefly explain the David Ricardo’s theory of rent.
dew  OTOWREFTRT  Rerd  AWYOBIW),  MOZTeoN  DTOR.

" Briefly explain the Rostow’s theory in development.

BREZNRITRNT RN  ATI0ITD, XO0ZToN - WO,
) 9 Q Q Q h 0

What are the importance of capital formation?
WOBTPE ROWONIT @mwééri%@@?

Explain the merits of capital intensive technology.
2OTRY  AOT, TOFWSW  TOIRRINTGTY,  HWOA.

Briefly explain the goals of sustainable development.
OITVOZ  WDHF ADAT LRFHOD  THORYE, FOFTION  LFOA.

)

PART - C

N - A
Answer any Two of the following. Each question carries 10 marks. (2x10=20)
BN SPPTRRTR STF  JFReR o302 [Ioieomd TR @B wozned.
Explain the indicators of growth and development.
BYIIN DI, wPRFOODH  ARWINTGT, DB[O2.
Explain the causes for inequalities and suggest measures for removal of inequalities.
STR0D  VIXPIZOD  FORATED? OTT  TOTT  TROAYE, YA
Explain the poverty alliviation programmes.

WBIT  J[oTTD  TOORNFFRONIT,  DF[OA.




